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PART –I / gFjp  - I 

Q.No Option Answer Text Book Question Number 

1 (1) (8,6)   Exercise.1.6-(8) 

2 (3)  {1, −1} Creative Question 

3 (3)  7881 Exercise 2.10-(8) 

4     (3)   
𝑛(𝑛+1)

√2
  Creative Question 

5 (1)  
9𝑦

7
 Exercise 3.19 – (4) 

6 (2) 4 Exercise 3.19 – (15) 

7 (3) ∠𝐵 = ∠𝐷 Exercise 4.5-(1) 

8 (1) ±4   Creative Question 

9  
(2) 

𝑥 + 𝑦 = 3,
3𝑥 + 𝑦 = 7 

Exercise 5.5-15 

10 (1)  
𝑦2

𝑏2 −
𝑥2

𝑎2 = 1     Exercise 6.5-(7) 

11 (4)   136𝜋 𝑐𝑚2  Exercise 7.5-(1) 

12 (2)   2π Creative Question 

13 (2)  160900    Exercise 8.5- (4) 

14 (2)  
𝑝

𝑝+𝑞+𝑟
 Exercise 8.5- (10) 

 

PART -II / gFjp – II 

Q.No Text Book Question Number  
15 Example 1.4  

16 Unit Exercise 2 –(6)  

17 Creative Question Given 13 + 23 + 33 + ⋯ + 𝑘3 = 16900  

                                              [
𝑘(𝑘+1)

2
]

2

= 16900 

                                                   
𝑘(𝑘+1)

2
= √16900 

                           1 + 2 + 3 + ⋯ + 𝑘 = √16900 

                                                                = 130 

18 Example 3.28  

19 Creative Question 𝐴2 = 𝐴. 𝐴 = (
1 −1
2 3

) . (
1 −1
2 3

) 
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2  Way to success – 10th Maths Public Model Question Paper  

               = (
1 − 2 −1 − 3
2 + 6 −2 + 9

) = (
−1 −4
8 7

) 

 𝐴2 − 4𝐴 + 5𝐼2  = (
−1 −4
8 7

) − 4 (
1 −1
2 3

) + 5 (
1 0
0 1

) 

                     = (
−1 −4
8 7

) + (
−4 4
−8 −12

) + (
5 0
0 5

) 

                     = (
−1 − 4 + 5 −4 + 4 + 0
8 − 8 + 0 7 − 12 + 5

)  

                     = (
0 0
0 0

) = 𝑂 

 

20 Exercise 4.3-1  

21 Creative Question  Slope of straight line 3𝑥 + 4𝑦 = 7 

 3𝑥 + 4𝑦 − 7 = 0   is 𝑚1 =
−𝑎

𝑏
=

−3

4
    

    𝑚1 = 𝑚2 =
−3

4
 

     Slope of straight line 9𝑥 + 12𝑦 − 3 = 0  is   

  𝑚2 =
−𝑎

𝑏
=

−9

12
=

−3

4
   

    𝑚1 = 𝑚2 =
−3

4
 

 ∴ Two straight lines are parallel.  

22 Example 6.5  

23 Creative Question  

 
In ∆𝐴𝐶𝐸,

𝐴𝐸

𝐶𝐸
= tan 60°   

  
88.2−1.2

𝐶𝐸
= √3 

       𝐶𝐸 = 29√3  
 

  In ∆𝐵𝐶𝐷,
𝐵𝐺

𝐶𝐺
= tan 30° 

            
88.2−1.2

𝐶𝐺
=

1

√3
 

                   𝐶𝐺 = 87√3𝑚 
 

  Balloon traveled distance = 𝐸𝐺 = 𝐺𝐶 − 𝐸𝐶 

                                                      = 57√3 − 22√3 

                                                      = 58√3𝑚 

 

24 Exercise 7.1- (5)  

25 Example 7.2  

26 Creative Question Standard deviation= √6 

SD of new data= 3× √6= 3√6 

       Variance of new data= (3√6)2 

           = 9 × 6 
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                                              =54 

 

27 Exercise 8.4- (5)  

28 Creative Question  𝑓(𝑥) = 3𝑥 − 2; 𝑓 = {(𝑥, 3𝑥 − 2)/ 𝑥 ∈ 𝑅} 

(𝑎, 4) means the image of  𝑎 is 4 

  That is,  𝑓(𝑎) = 4 

            3𝑎 − 2 = 4 

                   3𝑎 = 4 + 2 = 6 

                     𝑎 = 2. 

  (1, 𝑏)  means the image of  1  is 𝑏 

     That is,  𝑓(1) = 𝑏 

            3(1) − 2 = 𝑏 

                         𝑏 = 1 

 

PART -III / gFjp- III 

Q.No Text Book Question Number  
29 Exercise 1.5- 7  

30 Creative Question    𝐴 = {𝑥 ∈ 𝑊|0 < 𝑥 < 5}  = {1, 2, 3, 4},        

 𝐵 = {𝑥 ∈ 𝑊|0 ≤ 𝑥 ≤ 2} = {0, 1, 2}, 

   𝐶 = {𝑥 ∈ 𝑊|𝑥 < 3} = {0, 1, 2} 

  𝐵 ∩ 𝐶 = {0, 1, 2} ∩ {0, 1, 2} = {0, 1, 2} 

  𝐴 × (𝐵 ∩ 𝐶) = {1, 2, 3, 4} × {0, 1, 2} 

                              = {(1, 0), (1,1), (1,2), (2,0), 

                                      (2,1), (2,2), (3,0), (3,1), (3,2), 

                                     (4,0), (4,1), (4,2)}…… (1)  

       𝐴 × 𝐵 = {1, 2, 3, 4} × {0, 1, 2} 

                   = {(1, 0), (1,1), (1,2), (2,0), (2,1), (2,2),   

                          (3,0), (3,1), (3,2), (4,0), (4,1), (4,2)} 

      𝐴 × 𝐶 = {1, 2, 3, 4} × {0, 1, 2} 

                  = {(1, 0), (1,1), (1,2), (2,0), (2,1), (2,2), 

                           (3,0), (3,1), (3,2), (4,0), (4,1), (4,2)} 

     (𝐴 × 𝐵) ∩ (𝐴 × 𝐶) 

                       = {(1, 0), (1,1), (1,2), (2,0),    

(2,1), (2,2), (3,0), (3,1), 

 (3,2), (4,0), (4,1), (4,2)} ∩ 

                             (1, 0), (1,1), (1,2), (2,0), (2,1), 

                              (2,2), (3,0), (3,1), (3,2),  

(4,0), (4,1), (4,2)} 

                     = {(1, 0), (1,1), (1,2), (2,0), 

 (2,1), (2,2), (3,0), (3,1), 

                             (3,2), (4,0), (4,1), (4,2)} …(2) 

       From (1) and (2),        

 𝐴 × (𝐵 ∩ 𝐶) = (𝐴 × 𝐵) ∩ (𝐴 × 𝐶) is verified. 
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31 Example 2.51  

32 Creative Question The number of saplings to be planted for 
each of the 25 streets in the town forms a 
G.P. Let 𝑆𝑛 be the total number of saplings 
needed. 
 Then,𝑆𝑛 = 1 + 3 + 9 + ⋯to 25 terms. 
 Here, 𝑎 = 1, 𝑟 = 3, 𝑛 = 25 

   𝑆𝑛 = 𝑎 [
𝑟𝑛−1

𝑟−1
] 

  𝑆𝑛 = (1)
[325−1]

3−1
 

               =
325−1

2
 

Thus, the number of saplings to be needed is 
325−1

2
. 

 

33 Creative Question 
 

    16𝑥4 − 24𝑥3 + (𝑎 − 1)𝑥2 + (𝑏 + 1)𝑥 + 49 

 

   49 − (
𝑎−10

8
)

2
= 0  

       ⇒  49 = (
𝑎−10

8
)

2
  

,UGwKk; th;f;f%yk; vLf;f 

          √49 = √(
𝑎−10

8
)

2
 

         ⇒ 7 =
𝑎−10

8
 

  56 = 𝑎 − 10 

   𝑎 = 56 + 10 = 66 

(𝑏 + 1) +
3

4
(𝑎 − 10) = 0 

(𝑏 + 1) = −
3

4
(𝑎 − 10)…(1)  

𝑎 = 66 vd (1)y; gpujpapl 

 𝑏 + 1 = −
3

4
(66 − 10) 

 𝑏 + 1 = −
3

4
(56) 

 𝑏 + 1 = −42 

 𝑏 = −42 − 1 = −43 

 𝑎 = 66, 𝑏 = −43 

34 Exercise 3.18- (2)  

35 Example 4.21  

36 Exercise 5.4- (4)  
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37 Example 6.33  

38 Creative Question   

 

 

 

 𝐶𝐷 = 700𝑚,   ∠𝐶𝐴𝐷 = 30° and   ∠𝐶𝐵𝐷 = 45° 

 In  ∆ 𝐶𝐷𝐵, 

 tan 45° =
𝐶𝐷

𝐷𝐵
 

 𝐷𝐵 = 𝐶𝐷 = 700𝑚 

In   ∆ 𝐶𝐴𝐷, 

 tan 30° =
𝐶𝐷

𝐴𝐷
⇒ 𝐴𝐷 =

𝐶𝐷

tan 30°
=

700
1

√3

= 700√3𝑚 

The width of the river, 𝐴𝐵 = 𝐴𝐷 + 𝐷𝐵 

 𝐴𝐵 = 700√3 + 700 = 700(√3 + 1) 

         = 700(1.732 + 1) = 700(2.732) =
1912.400 

      = 1912.4 m 

Thus, the width of the river 1912.4 m 

39 Creative Question 

 
Volume of cylinder = 𝜋𝑟2ℎ 
                                     = 𝜋 × 6 × 6 × 15 
Volume of ice cone 
 = volume of cone + volume of hemisphere 

                                     = 
1

3
𝜋𝑟2ℎ +

2

3
𝜋𝑟3 

                                     = 
1

3
𝜋𝑟2[ℎ + 2𝑟] 

                                = 
1

3
× 𝜋 × 3 × 3 × [12 + 2(3)] 

                                = 𝜋 × 3 × 18 

Number of cones = 
𝑣𝑜𝑙𝑢𝑚𝑒 𝑜𝑓 𝑐𝑦𝑙𝑖𝑛𝑑𝑒𝑟

𝑣𝑜𝑙𝑢𝑚𝑒 𝑜𝑓 𝑖𝑐𝑒 𝑐𝑜𝑛𝑒
 

                                  =
𝜋×6×6×15

𝜋×3×18
 

Number of cones = 10 
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40 Exercise 8.1- (11)  

41 Example 8.33  

42 Creative Question 

 
Before determining the area of quadrilateral, plot 
the vertices in a graph.   

 Let 𝐴(−5, −3), 𝐵(−4, −6), 𝐶(2, −3), 𝐷(1,2) 

 Area of the quadrilateral ABCD 

    =
1

2
{
𝑥1 𝑥2 𝑥3 𝑥4 𝑥1

𝑦1 𝑦2 𝑦3 𝑦4 𝑦1
}sq.units  

   =
1

2
{

−5 −4  2    1 −5
−3 −6 −3  2 −3

} 

  =
1

2
{(30 + 12 + 4 − 3) − (12 − 12 − 3 − 10)} 

                 =
1

2
 {43 + 13} 

    =
1

2
{56} 

   = 28 𝑠𝑞. 𝑢𝑛𝑖𝑡𝑠. 

 
 

PART –IV/   gFjp- IV 
 

Q.No Text Book Question Number  
43a) Exercise.3.15- 1(i)  

43b) Exercise.3.15- 7  

44a) Exercise 4.2-11  

44b) Example 4.31  
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